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SECTION - A
i) Ganeral Awareness
1. 1. The first India Satellite was 6. The Central Rice Research Station
e (A} Columbia is situated in
(B} Bhaskara (A} Chennal
13 (C) Aryabhatia (B) Guttack
(0}  Rohini (C} Bangalore
(O} Quilon
2. The gas usead for making vegetable is
(A} Oxygen 7. Madharasas are the schools of
(BY Carbon dioxide (A} Jain
(C} Hydrogen {8) Hindus
14 (D} Nitrogen {C) Muslims
(D} Christians
3. First Afghan War took place in
(A} 1839 8. Hockey was introduged in the Asian
(B} 1843 Games in
(C} 1833 (A) 1858 in Tokyo
1 (D} 1848 (BY 1982 inJakarta

(G} 1886 in Bangkok

4. The cldest literary work available in (D) 19%0 in Bangkok

Tamil was
(A} Silappadikaram 9. Inwhich season dowe nead more fat ?
(B} Tholkappiam (A) Hainy season
({C} Thirukkura! {8y Spring
(B} Manimegalas (C}  Winter

.. _ (D}  Summer

2. Germany signed the Ammistice Trealy _
on _____ and World War | ended. 10. Indiais the grower of pulsses.
(Al January 19,1918 {A} Largest
(B] May30 1918 (8} Smallest
1) November 11, 1813 () Appropriate for national nesd
(D) February 15, 1918 (D} Maone of the above
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- 11, How many Lok Sabha seals dogs 16. Bijapur is known for its

Goa have 7 (A] Severe drought condition

22 L i8] Golgumbaz

12 (B) 11
(C) 2 (C] Heawvy rainfall
| 8 (DY 15 (D} Statue of Gomateswara
12, InAirForca, Air Commodors has ong 17. The MNational Anthem was first sung

‘rank higher than Ift the year

(B)  Adr Vice-Marsnal

(B) 1913
-aptal
{C) G.mup Captain (©) 1985
()  Air Marshal
(B 1935
1 18, Ms. Madha Patkar ls associated with _
the 18. Whao is the author of the book
(A} Tehr Praject ‘Mineteen Eighty Four' 7
(B} Enron Project (&) Thomas Hardy
(CY Sardar Sarovar Profect (B} Emile Zola
(D) Dabhol Project (C) George Onwell

f A
14. Sguadron leader Rakesh Sharma (D) WalterScal

was India's first man 10 go into space. 19 The fafkous book *Anand Math was

i -t |
He was. _ gosmonaut © be in Siitbiarad iy
space in the world. o
(A) 1zih (A} Sarojini Naidu
By 1ot By Bankim Chandra Chaottapadhya
(G)  1agh (C) Sn Aurchindo
o 1mh {D) Rabindranath Tagere
15. The territory of Porus who offerad on.  The United Matons was founded on

strong resistance to Alexander was
situated betweaen Lhe fivers of

(A} Sutlej and Beas
(By Jhelum and Chenab
G Ravi and Chenab
‘D Ganga and Yamuna
fs +
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ii) General Intelligence and Reasoning Ability

21. Lookatthisserss:7,10,8.11,8,12, ...
What number should come next 7
{A) 7 (B} 10
(C) 12 (DY 13

22. Lookatthis senes 1 36, 34, 30. 28,24,
‘What number should come next 7
(A) 20 B 22
(G) 23 (D1 26

Direction 23-24 : Each gquestion has a word
followsd by four answer choices. You will
choose the word that is a necessary part of
the underlmed word.

23, BOOK
(Al Fiction (B} Pages
(C) Pictures (0} Learning

24, LANGUAGE
(A} Tongue (B} Slang
(C)  Writing (DY Words

Direction : 25-26 : Each problem consists
of three statements: Based on the first two
statements, the third staternent may be true.
false. or uncertain
25. Tanya iz older than Eric.
CHff ks older than Tanya,
Eric & older than Cliff.
If thiz first twio statamernits are tue, the
third statemant is
ral Trus Bl Falza
S Uncertan DY Certain
.

26, Blueberries cost more than sirawbermias.
Blueberries cost less than mspbarries.
Raspberres cost more than both
strawberries and blueberries.

If the first two staterments are frue, the
third statement is

(&) True (BY False
{C] Uncenain (D Certain
27. FAG, GAF, HAI I1AH,

(A) JAK {B) HAL
(C) HAK (D) JA
28, ELFA, GLHA, ILJA, . MLMA
(A) QLPA (B) KLMA
(C) LLMA (D} KLLA

Direction 29-?:} : Use the sentence 10 find
out which of the answer choices completes

the same relationship with the third word.

29, Odometer is o mileage as compass

5 to
(&) Speed (B) Hiking
{C} Needle {0) Birection

30. Maraihon isto raceas hibernation is o
dAl Winter \Bi1  Bear

{C1 Dream (01 Sleep
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i1y HTAT A TEE T AT AT
21. YEAI7,10,8,11,9,12, ... H 3 26, SEElE 1 e wee o 3w 8
e g 7 e T A ) 8 | TR
A 7 8 10 T wfete i st A o arfi
2 i | 9 T ST FEA e B, o) dis s
P2, I 36, 34, 30,28, 24, . H AT E
(A) 20 (B) 22 o) st o B
(C} 23 (D) 28
i (w.. 23-24) : 75 w4 0 sl et Dol
OF THEwG ¥t & AR 39S 9 96 (A) JAK (B) HAL
ot 30 T2 4 | Tiien wied &) (C) HAK ) A
ST W AT 9158 |
28 ELFA, GLHA, ILJA,  MLNA,
sl B KLMA
(A U B) T3 Ay OLPA =)
(C) R (D) T (C)  LLMA (D) KLLA
s v forr (9., 20-30) : T W TR F T
(A) o (B amma ffm,aﬁﬁquamaﬁmﬁmiwﬁﬁmq
c) D) I HelH] 41 A 7

fador (.5, 25-26) : WeE U B A FE
vl € | ged 2 waEi F Saw W A
e A, g2 a1 AATEE g B

25 TRETENE © aE 8 |
Frsamna e |
e e & ag i
T e S A S B, O Al FEA R
(Ay T (B
(cy k=M oy Tl

2. rsmHE S fie-gh & o0 F =

FT o R

(A) I (B) 92eE

© % (o) fam
s0. e 4 T ¥ o 3 4 A A

T oI 8

(A} wE (8 e

) H (o) Fm
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31.

A

L

Which word does NOT balong with
tha others 7

(&) Parsley

(B) Basll

(C) Dill

(D) Mayonnaise

Which word dogs NOT belong with
tha others 7

(A} Inch (B} Ounce
(C} Centimetre (D} Yard
Here are some words transiated from
an artificial language.

haphiash means cloudburst
srenchoch means pinball
resbosrench maans ninepin

Which word could mean “¢lowd ning™ ?
{Al Leshsrench

(B} Ochhapl

(C) Haploch

(D} Haplreshao

Here are some words fransialed froman
arificial language

mooickarm means biue sxy
wilkospadi means bicycle race
moolowiltkc means blue bicycle
Which waord could mean “racecar” ¥
(Al Wilkozwel

(B) Spadiwilko

(2} Moolobreil

(¥ Spadivolo

True' [z related to 'False’ in the same
way ‘Love isfor _
(A} Sad

Angry

i8] Hale

(L2 (D) Dismay

ai.

ad.

a5

]

R0 D A A

‘Comb' is for ‘hair’ and Brush is for

(&) Testh

(C) Mose

=
(D}

Eyas

Eam

‘Brick’ is for ‘Building' in the same
way ‘Seed' isfor

(A)
(B
[T
(D}

Flower
Plant

Fruit
Vegetabls

‘Schaol' is for 'Principal’ in the same
way 'College’ is for

(A)
{B)
(T}
(0

Dean

Vice Chancellor
Professor
Lecturer

¥
Cow iz for 'Calf’ whereas Kangaroo
is for

1A
(B)
C)
2

Joeys
Pups
Herd
Farade

Paws is for cat, whereas Hoof is lor

(Al Hotse

B) Cow -
iC) Donkey

(D} Elephant
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31, NE MET==EEE |
(&) ¥EE
(B) TFET
(C} TR
(D} LTS = HETEA
90, HAMiE m s wEme 7

{A) = B) =\
(cy Hitdwm o) I

33 ER TR T o S ITes] B 5
WEE

aplesh =T Hres # cloudburst
srenchoch &1 G 3 pinball

rasbosrench 1 WA & ninepirn

‘cloud nine ¥ oo =g i |

Ochhapl
Haplresho

(&) Leshsrench (B)
{C] Haploch (D)

94, T Feel1 Uiy 3 e o T 6
TER
moolkokam &1 WaEE 2 blue sky
wilkospadi %1 Hi7# ¥ bicycle race
moalowilko 1 TEwE £ blue Bloyche
“rece car % TH0 S99 RS BAT 1
(A wilkozweal B)
(S moeclobreil ™

spadiwiixo
spadivolo

95, f#0 m=0 ‘gu @1 mEy ge J § 3
TE TR ETES

(Al TS By

Gy AHS 0y wIaial

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click

38,

37

40

JDD-30/PGT-PHYEDU/X-14

‘o g e R T Ean A w
s T

(A) EfF (B) =

(C) ¥R (D] FH

' 0 T o B 9w A e
T PR
(A} B
(€]

B) T

(D} =g

‘wpw aw Tifiia’ & foo g, 9w A
‘Fiete ghH U E
(a) M (B) 1 FH<h

(C) s (D)
¥

‘& wEE & T, A A i
$E o @

HTEETIF:

(Ay FEA (B) Toeen
(c) TME= (D) Wiz

() s By T
(C) = (D) e




JOD-30WVPGT-PHYEDU/X-14

VAR A O O A

N | lil) Arithmetical and Numerical Ability

| 41. A train 125 m long passes a man,
running at 5 km'hrin the same cirection
in which the frain is going, in
10 seconds 7 The speed.of the train is
(A) 45 kmvhr B 50kmbr
{C) 54 kminr (D} S5 kmhr

42. A can lay railway track between hwo
: given stations in 16 days and B can
do the same job In 12 days. With help
of C, they did fhe job in 4 days anly
Then, C alone can do the job in

1 a

(A) ©— days (B} 92— days
5 5
3

(C) 95 days (D) 10days

43, The cost price of 20 articles is the
same as the salling price of ¥ anicles
If the profit is 25%. then the value

of ¥ Is
(Al 15 {B) 18
{G] 18 (D} B5

44, The sum of ages of 3 children born at
the intervals ol 3 years each Is
50 years, What is the age of the
youngesl child 7

(A} 4 years
(BY & yaars
(2} 10 years

0 Moaneof thesa

45,

48,

a7

48,

A famlly consists of hwo grandparenis
two parents and three grandchildrer
The average age of the grandparent
is 67 years, thal of the parents |
35 years and that of the grandahlidre:
I5 & years. What is the average ag
of the family 7

4
(A) EE; years
5
(B 31-? Years

I
(] E year
(D} Mone ol these

In how many different ways can th
letters of the word 'LEADING' b
arranged In such a way that Ih
vowels always cormns together ?
() 30 (B) 480
{C) 720 (D) 5040

Tha H.C.F. of two numbars is 23 an
the other two factors of their L.C.A
are 13 and 14, The larger of the tw
numbers is

(A} 276 (B) 299
(Cy 322 (D] 345

What shouid ¢ome in place of both

i the equation —s— = 2L
vi2B

(A) 12 By 14

(G 144 {108
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o 125 Wi w39 5 & ot e i 45, TR AT FwEr-an, a0 3t g
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Hw A | sm il @ AT~ 1 aftes T 95 &Y B s
(A) 45 T e et o6 sl aw e 2 | 3w aftar
(B) sofFH = AaaTR e |
(C) s4fFdti=a "
(D) 55T ot e A EEF‘_ﬁ
= ! B ot e 2 e (3) 31%&*&
A 16 B O w0 w8 el 98 e :
B 12 i f oy wpasen | o) HEE (C) 32
3 a;ﬁamr Fr aT{_ﬁm iy A E B s
C T I8 = 30 To 5 o IR

1 2 46, 'LEADING' W52 & 3T =1 TEgs
(A 9= [ (B) 8= o ; i

5 5 Tt o & g =n S & ford 7=
) 52 - D) 10% e BN 1 W Tt

5 (A) 380 ) (B) 480
o0 FEEaT ot e e« FEs (3 Fe9 W s
e ft B 1 AR e 26% R A | 47 3wl & wm. H. Us. 29§ i
AFTHE R 9% e, . W, g A e 13 9
s 25 ey, 18 143 | 3 s i e ) e d
€ 18 B 25 (A) 276 (B} 299
3 T oh W STeeT O e 5 =] o (C) 322 (0 345
THLFTAE 50 F9 2 | 9E BiE 9= ik
B 48 THETT i 4 3E] x T
(&) 4T ~ 128 X )
(B] Bo= T T SR T
(G 104 (A 12 iB) 14
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The bankers discount on Hs, 1,600 at
15% per annum is the same as krue
discounton Rs, 1,680 tor tha same time
and at the same rate. The time is

(A) 3 months

(B} 4 maonths

{C) Bmonths

(D) &months

An aeroplane covers a8 certain
distance at a speed of 240 kmph in
5 hours. To cover the same distance in
Ig hours, it must travel at a speed of
(A) 300 kmph
(Bl 380 kmph
{C) 600 kmph
(0 720 kmph

Mr. Thomas invested an amount of
As. 13,900 divided in two different
schames A and B at the simple
intferestrate of 14% pa. and 11%: p.a
respectively. If the total amount of
simple interest eamed in 2 years be
Rs. 3 308, what was the amount

invested in Scheme B 7
(A) Rs. 6,400
{B) BRs. 8500
()} Rs 7200
Dy Rs 7.500

a2.

53.

A 0RO A

A, B and C jointly thought of engaging
themselves in a busingss venture. It
was agreed that A would invest
Rs, 5,500 for & months, B, As. 8400
for 5 months and C, RAs. 10,000 for
3 months. A wants to be the working
membar tor which, he was to receive
5% of the profits. The profit earnad
was Rs. 7,400, Calculate the share
of B in the profit.

(A) Hs. 13800

(B) Rs.2.6860

(C) Rs.2.800

{0} Rs. 2,840

An arror 2% in excess is made while
rneasuﬁqg the side of a square. The
oercentage of error in the calculated

area of the square is
(A) 2%

(B) 2.02%

C) 4%

(D) 4.04%

(112 % 5% =7
(A} B7000
(B) 70000
[C) 78500
(D) 77200
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49, 1,600 %, Y% 15% UTAAT 954 [ &8, 55, A BN CUF=w i we % =

1,680 %, T 3H1 gyt of I sty =
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TET WG ¥ | WE 99 g AT A 6

afea % w6500 5. FEw w0,

E“Fﬁ =
a5 nfgal & fan 5,400 3. &
(&) 3EE (B) 47w .
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T AT SR L
(C) 2.800% (D) 2,840%.

(A} 300 TR 3.3 =
(B) 360 F%.H1. 50 =Tex 53, T A T W T 2% sl =

(C) s00 B T e T | il e i
(D) 720 Bt Ul g

e ST e By,
51. 4t i 13.9%@@#}@1 AEHTIT._E‘ (A) 2% (B) 2.02%
a1 ATt 7 Sres T o
I} 'I (o] ) EI.
fo T wE: 14% T S 11% (E A P A

T T e R E AR -
- Gh 3 54, (112x5%=1
T T T A S ST 3,508 %, 8, T

B = E et o Femf e ¢ (&) 67000
F Sk B 70000
(B) B5.5007%
{C) 7B500
0] 7.E00%
(Of 7,500 %, (o) 7F200
A= ] 5=
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55. Pipes A and B can fill a tank in S and
& hours respectively. Pipe C can
empty it in 12 hours. If all the three
pipes are opened logether, then the
tank will be fillad in

13
2 s

{A) 7 hours
8

(B) Eﬁ hours

g
32— hours

(€ 3=

1
4— hours
(D} 5 OLT

56. A bag contains 2 red, 3 green and
2 hiue balls. Two balls are drawn at
randam. What is the probability that
none of the halls drawn is blue ?

() 1o
B) 1121
(C) 247
(D} &7

57. A man standing at & point P Is
watching the top of a tower, which
makes an angle of elavation of 307
with the man's aye. The man walks
some distance towards the tower o
watch its top and the angle of the
elevation becomes 60°: What Is the
dislance between the base of the
tower and the point P 7

(A) 443 units
(B1 Burnils
(G 12 units

(I} Data inadequale

53,

-

0 0 O AR

The differsnce between simple and
compound interests compounded
annually on a cerfain sum of monay
for 2 years at 4% perannum 2 Re. 1.
The sum {in H&.) 2

() 625
(B) B30
(C) 635
(D) 640

Two students appeared at an
examination. One of them securad
g marks mare than the other and his
marks was 58% of the sum of their
marks. The marks obtained by them
are
(A}
(E)
(C)
=)

30460
41,32
42, 33
43, 34

Three times the first of three
consecutive odd integers is 3 morethan
twice tha third, The third integeris
(&) 8

(Bj 13
{€) 11
() 15

*
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55

86,

I

A ST BTEY T b HIEAT: 5 308
W2l H W aEd B | C TEd 3% ool
12 921 § Gl 57 g £ | afd |l

f=1 Tl = % Ty e s 8
el e Hel | W AR
13 . B
Y] E_ )
{A) 11?'42 (B} ”EF
- -
3— 4
() 3% (D) 4 %

e Aeft 2 =R (TR, 3F I AN 2
e H e B | e T AT
o = aWEa 8 R, =E o e e
TFIAE T
(&) 10/21
By 27

1121
S

(B)
{8}

e sl P e W e e T
Tt =1 4 71 & TR UF = e 3
et & siteh ¥ 307 F I FH
=T © | 5F oATeR TiET T S0 S L
A Fedr & i A T e S
o FegT94 B0 @ ST R | 2w A9
At p e g Fas s & 7

(&) 4.3 AEF
()
(oL

!

8 O
1 DI

(D) 27TeR= A

L

56.

2 R

JDD-30/PGT-PHYEDU/X-14

o= Tafvae Tl 9 4% T 2 91
ferw o7 T e v 3 A wate
g S = ] S TR | T U
(wH) R

(Al
(B)
(C)
(D)

625
630
&35
Bl

4t Rrasf we # wfir g, | O Pl
it forereff &1 o 375 i T 8 &
TEF SR E] IS 1% #Eh o 56% o |
3+ firel gu S 2

(A) 38,30
(B
[C)

41,32 L]
42,33

(D) 43, 34

TR ot et Fes orieRT A oo
s o1 faen 1w diel gEnF g A
3 i 3 1w gele #

{A) 8

(Bf 13

{5 R

(O
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iv) Testof Language : Hindi
v witero : fE
Fafafiaa i & s g9 fafan | Fror: §9-70 : B4 % e 1 qgE &1 |
g . . A = Rme
61. 90 H Feenl ant gla @ o $?+ﬁ;ﬁ[ B) R
(p) aEiiElE (B) w:jmﬂw (c) afgst ) R
-mﬁhﬂ I} — I - »
6 : 5 o Bl 70, sfa +3nfE = seiE
g2, 'IHT 1 THIEEATE ¢ () #dwh B e
(A) T B i (cy grawf {0y =&
(C) Vo S 71, ‘sEEmEdE_ =Altdaean
63 ‘gl REm g afent faren Tetam wma s |
(A)  FEm (B) TerfE (A) g 8) #9
(c) finma (D) =\ (Cy R+ (D) 3=
54. T am iz AR wE 72. e EE @Gy S
(©) e D) i AN R A e ST R
: _ : o 1 S50 1 g8 o s |
65. I o T I ¢, T 8 (&) =, B B) =, &4
(A T (B) @ iC1 I, Tt D) &, =i
(cy sl (D)} =i
P 73, URERATEIRIIESH:
B R o6 et Wi i Tireraet Tt o
(A) B e e § ST gl ) ol S A E
(B) e 7 forll TR e 1 g et A e
(C) B gravEE el (FERIE TR I %
() & yresh vEATE 8y, w (B) AL, FE
67, - E (C} =, At (D) 3, 3
8 BT ﬂ,'ﬁ,m. 74, HEE e o U I wEE s ET
B) BEEHHIEEA I .
k), WSS AT (A)  HE (B} W
(D) =M 5T (C) FEFEE (D) e
58 FETW wmIEME EEmLa 75, H WS AEE A
(&) FT= o+ AEA (B ¥+ =1 (A) =R By =FEl
(C) T4 (D) 37 + =W ey = D) HrERE
Ax ~18-
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76-B0 : AT TR

Frerfafias samm =i sgEs U2
1T TEE HEi Wyl & T oy
AT I H § et fawed #
o FE |

T g o= & wew Fadl g, W d
e et s st e i s
A A e e e gl e
BT WO H A S TR S | HearE I
hile = T drer &, Wi 3EH T
Fiw et wat, ity sl = a8 5 |

== T ERd # ot w1 SR | e
ot g8 dwa B &) gurE & o se
=1 | 1 i = = i e 91 5ee
1 faan deg 0l | o H Hie
T T R, A AT 0 e A | 56
& e g | i Sm S R g
2 o 7 ) 99F T UF ol wEs
719 & o § s = |
= g we el 48 TEE O e
T F ] B, T A T T
Bl B e e R -
HEAA o T AR B | ok 214 Heem
T aeius A9 v sad g sy R g
A 2 uEE | A 3T A | i
o BE 7, P s ! e EE
E A il e L B A R
AT ST ] 347k | §=01 TET Bl

76

77.

TR,

73,

&0,

JDD-IYPGT-PHYEDLVX-14

T T AN R

TSI R T

T

(B) T ETE] e 8 T

(C) T s A B S e
(D) e E e

Tt o IR T A R,
it

(A FE EEE T A

Bl =7 AR e

(C] FE T H T AT

(D) FEFEEH

375 TR o 7w HA an E 7
e dead T T

(B WA M Y= 1 g9 761w

(C) T ET fr?‘r{m

D) AXTB

T A ST et & wE aE TE EET
(A} =T o oI

(B) FHE my T e

() FHE BTy HEE A e g

(D) TEETHETE T )

] SR I T AL
(&) HATE TR e -
(B] HAHET TR

(O} i —I[E

(D} HEAH HET
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v) Test of Language : English
AT ST : FI
81. Read the each sentence to find out | Direction for 85 : In each question, an
wheather there is any grammatical incomplate statement (Stem) followed by
errar in the sentence. lilkars is given. Pick out tha best one which
(A} an Indian ship can complete incomplete stem correctly and
meaningiuliy.

(B} laden with merchandise

(C) got drowned in the Pacific Ocean 85, Ewvenifit rains | shall come means
{4) if | come it will nat rain

(DY noeror
3%, Thim (B) ifit rains | shall not come
- Thamisergazed ______ atthe (C) | will certainly come whether i
] pile of gold coins In front of him. rains of not
(A} avidly (B) admiringly (0}  whenaverthere is rain | shall coma
(©} thoughtfully (D) earnestly Direction 86-87 : Imports suddenly became...
Direction B3-84 : In aach question below, (86) ... available and that too al cheaper...
| thera is a sentence of which some parts have (B7)...
been jumbled up, Rearrange these pans BG, (A) hardly (B} easily
which are labelled P, Q, R and 5 to produce (C) frequently (D) convenienthy
the correct sentence. Choose the propear 87. (A} costs {B) teturns
gkl (C) dividend (D) prices
83. Then 88. Tokeeps one's lemper
P-itstruck me (A} To become hungry
Q: of course {B} Tobe ingood moad
A: suitable it was (C) Tobreserve ones energy
S howy En"III'I'EI"If!h" {l’._]':l Tao be aloof from
The proper sequence shoukd be 89, Tocatchalartar
(&) SPOR (B) QSAP (&) Tairap wanted criminal with great
(C) PSRQ Dy QPsA difficulty
84, |read ar advertisement that said (Bl Tocatch a.da_nfge'mus PRISal
B: pash, air-conditionad te) Toimastwilirdisaster U
(D) Todeal with a persen whao is mors

& gentleman of taste than ore's malch

R: are avallablie for S0, DIVA - OPERA

St fully furnished rooms (A} producer; theatre

The propear sequence should be “3}_ diractar * dFame

(A} PQORS (B) PSRGQ (C) eonductor bus

(C)] PEAR (Dy SAPO | (D) thespian @ play
A 20
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Direction for 91 : In the following the
queslions choose the word which best
axprasses the meaning of the given word.

&1, Brief
(A}  Misapproprate
(B} Balance
(G} Remunerate
(D) Clear

Find the correctly spelt words,
(A) Foreign (B} Foreine
(C} Fariegn (DY Forein

Direction for 93 : Which of phrases glven
below gach senlence should replace the
phrase printed in bold lype to make the
grammatically comecl.

33. The small child does whatover hic
father was done.
{A] has done (B} did
{C) does (I} had done

Direction 84-85 : But | did not want to shoot
the elephant. | watched him beating his
bunch of grass against his knees, with
the precccupied grandmotherly air that
elephants have. [t seemed to me that it would
be murder to shoot him. | had naver shet an
elephant and never wanted to. (Somehow it
always seems worse to kill large animal )
Besides, there was the beast's owner to
be considerad, But | had got to act quickly.
| tumned to some experienced-lacking
Burmans who had been there when we
arfived, and asked them how the eélephants
had been behaving. They all said the same
thing; he took no notice of you if vou left him
alone, but he might chargs if you wen! oo
close 1o him;

@4, The phrase 'Preccoupisd

grandmotherly alr signifies

(A} being totally unconcerned

B} pretending to be very busy

(C] & very superor attitude

(D) calm, dignified and affectionate

dizposition
n'r

JOD-30/PGT-PHYEDW/X-14

85. Fromthe passage itappears that the
author was
(A) an inexperienced hunter
{B) kind and considerate
(C) possessed with faar
(¥} a worried man

Change the voice - After driving
professor Kumar to the museum she
dropped him at his hotel,

{(A) After being driven lo the musaum,
Professor Kumar was dropped at
fis hotel.

Professor Kumar was being driven
dropped at his haotal.

After she had driven Profeasor
Kumar o the museum she had
dropped him at his hotel

After she was driven Professor
Kumar to the museum she had
dropped hirn at his hotel.

Direction 97-88 : In the following guestions
chaose the word which is the exact
OPFPOSITE of the given words.

g7, ENORMOUS

A

96.

(8)
()

(D)

(A} Soft (B Average

(C) Tiny ¥ (D) Weak
g98. COMMISSIOMED

(A Slarted {B) Closed

{C} Finished (D) Teminated

Direction 99-100 : In questions given below
out of four altematives, choose the one which

can be substiluted for the given
wordisentence,
289, The study of ancient socielies ‘
{A}  Anthropology
{B) Archzealogy
(C)} History
(D) Ethnology }
100. A person of good understanding

snowledge and reasoning power
{Al Exper (BY Intellectial
(G} Snob (O Literato

o
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SECTION - B
Post Specific Subject-Related Questions

101. Who among the following is the first 105. When was the game of Football

women Asian Gold Medallst in included in the Olympics 7

Athlatics ? (4) 1928

(A} M.D.Valsamma (B} 1890

(B} Rosa Kutll (C} 1932

(C) Karmafijeet Sandhu (D) 1986

UL, (ET e 106, Lakshmi Bal Matienal Institute of
102, Whera ware the first SAF games hald 7 Physical Education is located at

(A] Kathmandu kRN

(B} Malaysia (B} Gwikor

(C} Delhi (C) Jhansl

(D)  Pakistan ), e

. : 107. In 2014 the Warld Cup Foothall held
103, Which city hosted the first National

In
Games 7
() Kolkal (A} Sohith Africa
olkala
. (B) France
{B) MNew Delhi o
i - |
Chennal
¥ (D) India

(D} Karnataka

106. The most imporiant Motio of Physical

104, Tamm ‘Fee Throw' is used In Edurafion Is

1% Wrasting (Al Healthy bedy ard healthy mind

iB) Soccer (B] Healthy body
(G Volloyball (C] Healthy sociaty-and motion
() Basketball . (D} Healthy mind

Ax 0o

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

—



o — =

X0 0 T SRR O JDD-30/PGT-PHYEDL/X-14 |
Wi - ,':
g T T~ oy |
101, P88 s g duRefiaften 8 | 105, siiftifies d geefo gw == mits B I_!
Torer ufva s s S 7 T 7
(A) TH, &, g (A) 1928
(B) TE g (B} 1990 |
(C) THTa oY (C) 1932 ',
(D) T am (0) 1996 -
102, TEN ORUT (SAF) We Rl rsign 7 | 106, ST i e M v aet
(A) g T B
(B) TR (A) ErEH
iC) Rt B) mifom
(DY TR (C) =
_ (D) A
103, e e e A R I
#i 7 107, 20147 fas 4 F2aien 78] o g
(A) T (4) eRmafEE
() = fawwit (B) W
(C) =8 (C) e
(D) FAleE (D) |WA
(G4, ET U Tes R IR IEE AT R | 108, TR e s et a2
CYRR: 2ol (A)  Eaw o it e
(B) Fo (B TR
(Cy T (C) E3=THrH HR 0
(D} ArHEFZETE (D) T

A 23
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109. Which of the following country has

won World CGup Hockey Toumament

for the maximurm number of times 7
(A} Holland

(B) India

{(C) Pakistan

(D}  England

110. Which Country, in the history of

111,

hockey, scored maximum number of

goals agalnst their opponents 7
{A) India

(B) Pakistan

(Cy Helland

(Oy  Germany

Intramural programme creates In
students the sanse of

(&) achievement

(B] involvemant

(G}  hurmor

(0} enoyment

Vacancies and updates on one click

112

113

114,

AT PO AN A RN

Which of the following is the lirst sb

In a sparts programme 7

(A) directing
(B) stalling
(C) planning

(0] budgeting

Sports managemeant is
(A) Anar

(B) A science

{C] BothAandB

{0} None of the abave
%

Which of the foliowing does not cor
undar the purview of constral

idantification in sports managemeant
(a) Geographical

(B) Physiclogical

({C) Econ c-rﬁica!

(D) Social

Latest Sarkari Jobs, Govt Exam Results
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A=

111.
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Foiy 3 2 for 2y T i wimat i
AraFE AR At ® 7

(A) wieis

(B) wwd

(Cy e

(D) #ie

Torg 7o ek & gl 8 o1 faoref
* fomg srlum @ am 8 ¢

HHd

112

113

dit e i O e wE
e w8

(4 TeEfE

T
e

(B
(<)

(D}
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e e | e T e T .
(A) FEREH

(B) =TF

(G} T

(D} T2

=R EER

(A) e

B} famm

(C) (&) 37T (B) A

(D) g Al

T T ¥ T e
Zr 1 3 v

(A HmEE
(B) 2fEF

T iy

(C) ST

(D) =i




JODD-30/PGT-PHYEDW/X-14

115

116.

117,

Getting the right facts to the right

paople at right time in the nght way is
called

1A
(B)
(C)
(O}

Game Management
Fublic relations in sporis
Motheation for sports

Leadership in sports

The use of a particular method of

teaching depeands upon

(A}
(B}
(S}
(o)

Skill of teacher
Sex of the teacher
Age of ihe teacher

Mane of the above

Freehand activity generslly done in

group is called

(A
(B
(C)
()

ply meirics
calisthenics
drilt and marching

wezlght tralming

Which of the foflowing is not a

principle of lesson planning ?

[A)
(5)
(C)
(D)

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

Aga and sex
Frograssion

Warming vp

Teachars experience

119

120

121

122

B0 D0 ARV ARG ™

The Rajiv Khel Rathna Award
Scheme was launched in

(A} 1891-p2

(B} 1892-93

(Cy 1893-B4

(D} 18984-85

The award given to coaches who
have trained sports persons or tarms
rmaking culstanding achievements in

the year s

(A) Arnuna Award |
(B} Rajiv Gandhi Khel Rathna Award |
(Cy Dronacharya Award

(D} MNone

The Arfuna Award was instituted in
(A 1o |
(B} 15961
(C)y 18962
(O 1963

Ex-officio Prasident of SAl is |

(A} President of India : !

(B Prme Minister of india

(T3 Union Minister of Youth Affairs and |
Sponts

Dy Director Ganeral




-
OO0 OO A

115

116

17

118,

A~

S e T T T e T 9 Ha
AEI IR S T B |

(A) T TR

(B) T o -TER

() e & e I

(D) EelH Ao

AT B v P o S T
=g T T 2

(4 e = T

B Foerm=

(C) s S

(D) Fi e aH

e nfafsfmat = s i
£1 W 2, F FEA©

(A A =T (T H )
(By ==
(C) T A A =

(D) HE HEE

B A & Ftagr iz g w1 fbEEa
ECiE A

Ay 3 A

(B)

(Cy  AVEIERT

(D) Tt =R 3
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Tt S To% R 3T 3% ST I
(&) 1991-92
(B) 1992-93
(C] 1993-94
(D} 1994-85

g # Iepee auales 9 F Tem
FErTTTast 1 WiETeT 2] i) & =4
SIASTE TR B

(A) 37eld TEEET

(B) TEE M T Y

(Cy T

oy FE

Fl R AR g |
»

(A) 1860H

B 1961 d

iC) 1o9szd
(D) 1963

UENATE (SAI) F T 96

(A) A R T

(B A % 9

(o TE R EE EEE = SR
(D) e T
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123,

124,

125.

126.

“Mango Cup" is associated with
which game 7

LA
(B

Athletics
Hockay
{C] Basketball

{D] Football

Which of the following Is the oldest

spons in India ?
(A
(B)

Wrestling
Judo
{C) Boxing

(0} Atya Patya

Wiord “kha" in the game of "Kho-Khao!
is fram

(A}
(B}
(G
(L)

Hariyanvi Language
Bengali Language
Sindhi Language

Marath Language

When Games

Federation of India" formed 7

was ‘School

(A 1953
(B) 1954
(G} 1955
(o) 195

-28-

127.

128.

129,

130

T 00 O

Whare is the world's highest cricket
ground situated 7

(A) Lords
(B) Ghail
(C) Owval
{0) Kolkata

Karnam Malleshwari weight liftar
pelongs to which State 7

(&) Andhra Pradesh

(B) Arunachal Pradesh
Gl
(D)

Kamataka

Karala

Which of the following games has the
largest playing aras ?

(4) Football
{B) Polg

(&) Basketball
(D) Hockey

In which of the following games
countries i3 the headquarters of

‘Warld Physical Education Congress’
located 7 '

(Ad
(B)
(C)
D)

Japar
USA
England

Gamany
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123, AT HT Y WO H oA E 7
(A} TR

(B) T

(C) AT

(D $sie
el 5 1T S S o HE e
(A) I

(B) =i
(C} bt

124

(D} ST

125. “mi-m wEd E IEE g ey
ST R

AT

Tt

T

(A)
(B)
(C)

(o)

126

AT A el 6 ] T s
(A} 1953
(B} 4054
() 1858

(D 1955

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

127.

128

128,

130
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s w wan S B Bem e T
-;_ 7

(A Ales

(B) ==

(C) =

(D) HieEEE

T, 3T TR el R T E R 7
[A)
(B)
(C} T

(D) A

HiY Ty

et  § G O 51 % Srs ged
HEEATS 7

(A)
(B}
(C)

(O}

= ® B g 2o E fars anfiis fEn

= & g R 7

i
(L) TiE
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131,

132,

133.

134.

With which sports is the "Oval’

stadium associated 7
{A) Basketball

(B} Cricket

(C) Hockey

{0) Football

‘Antenna’ is used in
(&) Football

(B] Basketball

{C} Handball

(DY Veolieyball

The tarm "Yorker is used in
(A} Football

(B} Table Tennis

{C) Tennis

(D) Cricket

The name of ‘Tiger Woods' is
associated with

fAl Tennis

(B} Boxing

(C1 Hockey

(D) Golf

135.

136.

137

A OO 00

Sports Authority of India was farmed in
(A) 1983
(B) 1984
(C}) 1985
(D) 1988

Who among the following became the
first Indizn to win grand slam title ?
{A)} Leander Paes

(B Mahash Bhugati

{C) BothAandB

(DY MNone of the abowve

The quick source of fuel in the body is
{A) Fals

(B} G“‘ lycogen

(C) Watar

{0} Milk

Which Indian was the first to win

Warld tille in Badminton 7
Al Prakash Padukono
(B} Syed Modi

i2y  Aparna Popat

i P Gopichand
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139. Duration is a measure of 144, Osteology is the study of

(A) Distance (A) Muscles

(B) Displacement B) Bones

{C) Force

, (D)} MNerves

140, "Speed” is indicated In

() Kmisec? 145. Reaction time Is component of

f

Ll e (A} Physical fitness

{C) MNewton

(D] Kmihr (B) Moior fitness

LBt e ot i e calléa (C) Health refated physical fitnes
. Study |

(A} Kinesiology (O} Noneof the above
(E) Eiclogy

(C)  Anthropomsairy
{01 Arthrology (AY  Waison

(Bw» Mr. Dougal

145, Who gave laws of learing 7

142, Largest bone in the human body is

(A} Tibia (C) Carus

(o mea (D) Thomdike

(C) Fibula

(D) Humerus 147. What type of motivalion 150

. apphicable to young children ?
143. Newton's second law of motion 1S .

aleg known as {A] Intrinsic motivabon

(Al Law of ineria {B] Extrinsic motivation
(B}’ ki aption ressiion i Achieverisr mativation
(Sl Law al momentum
(D More of the ancve

0y Law of gravitation
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130, 7T e T I B 144, wfCafEm e ser R
(a) o i e
(B) =T
() = (B) =
(D) wma (C) =t2
140. “F 3 EnE & {0y =
(A} Km/sec?

(B) CMihour 145, "wighu sl R S
? © == A) T T
{0y Km/hr B i

141, WIS & S w5 (C) ez el ek e

(A) TR (D) il g e
(B) =i & _ T
!'| ©) TR 148 whtmmsFan e s ?
| (D) wREE Ay areET
£ ]
142, "=E T wad I g A (B) st gmeh
. (B) FAmE o) 4
(C) Fieslm
| (B) e 147, e & oo el S et AT R 2
143, TAF TR HeraE T i wEa 2 (&) A S
(&) == e ®)
B Fr-uitfEy fem=s
. N (C)  Fyefey
(C) T
(D) T T (0} T =
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148. The childhood, individual's behavior

iz most influenced by
(A) Ccommunity

(B] school

() peergroup

(D) family

149. The reason for lower performance in
sporis competition is
{A)  Fear lallure
(B} Anxiety
(C) Aggression

(D) Motivation

180, Which is not a primary motive 7
(A} Affaction
(B} Hunger
) Sex

(D) Thirst

151, Body mind relationship was first

promulgated by

(A)  Socrates

(B) Plato
() Hitlar
(O} Homer

152.

1583

154,

0 LA A AR AR AD LWk

Who said ‘Sound Mind in a Sound
Body' 7

(A} Descartes

(B} Rou=sseau

(C) Aristotie

(O} Plato

The hereditany factors of learning are
(A4) Height and weight

(B) Fhysical structure

{C) Body compesition

(D) Al of the above

Which leadership style takes full

charge of his team 7
(A} permissive

(B} autoccralic

(C) ::ili‘;aﬂ::tive

D) democratic

Which ol the following was the first o

facilitate the introduction of Modern

Physizal Education in schools 7

(A) Mational Fitness Corps

(B) The Plan of Physical Educat
and Feaction

(G N.C.ERT Syllabus

(D) Mational Policy of Education, 18
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(A) E
(B} =
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156.

L

158.

28,

Which of the following is not a
Regional Center of Sports Authority
of India 7

(A) Kolkata

(B) Bangalore
{JIE} Chandlgarh
(&)

Patiala

Physical Educallon teachers used a
time table because

(A} 1t helps them plan budget

[B) Itensures sludents attentivensss

(C)  Itensures proper ulilization of time
and energy

(D) It helps them plan their househokd

works

What is the minimum gualification to
become a coach in India 7

(Al MNSNIS Diploma
(Bl B.P.Ed,

(C) M.P.Ed

(O} M.Phil.

Which fs the most common site of
fracture 2

(A)
(B)
Cr Hand

Wrisk

Forearm

Ankla

| 160:

161,

1862,

|63,

(DT DT

Daticiency of Vitamin D causes
(A) Beriben
(B} Scunvy
(C) Rickets

() Night blindness

Total number of Vitamins required by

human body
(&) 10
(B) 11
c) 12
(D) 13

Which of the following minerals

keeps brain, nails and halr healthy 7
(A) Potdesium
[B)
(<)

(L)

Sulphur
Phosphorus

Calcium

The chiaf source of Vitamin ‘&' is-

(A)
(B}

Egg

Banana
(G} Guava

(B} Carror
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164, Theinstrument used for estimation of 168, How many calaries are required pe

body fatis kg of body welght every hour 7
(A) Flexmometer (A 1 k.cal

(B) Goniometry (B) 1.3kcal

(C] Dynamometer {C) 2kcal

(D) Skin fold caliper {0} 25k.cal

1685, Forendurance domination spors, the 1692, MNumber of flights in 110 M (Hurdle,

diet should ba rich in race is
(Al Protein (A) 8
(B} Fat =
(CY  Minerals {C) 10
(D Carbohydrates o 1

188, Which of the following has grealer | 425 pimensions of the volleyball court an

7
food value (A PM=1EM

A) - Whit

o L B 10 M =20 Meter
B} Brown eggs
& o (C) 1T1TMx21M
(C}) Both AandB
D) BMx16M

(D) Ducks Egg

171, How many field players are there |
167. Carbohydrata leading mostly helps :

one team In volleyball ?
(Al Marathon Runners
(A 12
18] Baoxer
; (B) 10
(G} Sprinter
() &
(0 Power iflers
(D} B
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(A} TEEEEER
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166, eeETisR W Sl ¥ fer s oy
wrETH B EET
(A) TR
(B =
(C} =k
(D) et

168, P s Fomeam g aims 7
(&) HHE AED
(B} <0 HU=]
([C} ARBTM

(D} =iE =1 =T

167. TBUATEESIH A g S 2]
TEEE A B

(A)  TETET TS
(B) T
(C) s 9T

(D) HH IAEE
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1 Tl TR v = T wf =me et
] o A Bl b

(A} 1 k.cal

(B) 1.3k.cal

(C) 2k.cal

{0} 2.5k.cal

110t () dte i g HieE E
Ay 8

B 9

{€) 10

o 11

et e shie 1 forea g1e 4
(A) 9HI x 18HTy,
(B} 107 %20
(C) 119121 9]
(D) Bl x16H

FreAtaiel =l em 4 Toher & el i
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172

173.

174,

175,

Event in 'Power lifting’ are

(A) Sguat, bench press, dead lift
(BY Sguat, pullovers, curls

(C) Dead lift, bench press, chin ups

(D} MNone of the above

How many bouncers can be bowlad
inone overin atest maich in cricket 7
(A} 1

{By 2
(C) 3
o) 4

What is the length of piich in cricket ?
(A) 21 yds
(B) 22vyds
(C) 23yds
(D} 24yds

Three second rule is applied in the

gama of

(A) Basketball
(B) Kabadd

(G} Kho-Kho

(D) Tabls Teanis

176.

177.

| 178.

179,

| R G M TR

Which af the following instruments
reasure helght 7

(A) Spring scale rig

{B) Dynamometer

(C) Stadiometer

(D) Scoliometer

The maximum length of cricket bat is
(&) 38 Inches
(B} 39 inches
G} 40 mches
(B} 41 inches

For-any running event what is the

minimum leggtn of the track 7

(A}l 100m
(B) 200m
{C) 300m
(D) 400m

The maximum distance coverad ina

Marathon is

(A 40 Em .
(BY 41.5km

(C) 42 km

(D} 42185 km
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176, =9 @ Fhaen summn S ST E 7
(Ay T e T
(B) SHE=R
(C) =iswnia
(O) w=iiseade

177, Tarde st it srea s wend 2 2
(&) 38%™
(B) 393
[C] 40%9
D) 4189

178. @12 =1 342 o T 1Y F = vear
Frdfiedid s »
(A) 100 57,
{B) 200,
{C) 300 1.
(D} 400wt

179, ey 5 a7e0lis 5 g d
21 4 B A
(B 415TF. 7.
(Cy 42f%, =

(D 4z 105t of,

i
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180

18

18

—=
ez

(Y]

2

In tabla tennis, the perpiexing penod
during which & ball is called

(A} Rally
{8}
()

()

Lat
Pont
Lbstruction

wWhich country won highest no, of

Wirld Cup ericket ?

(A)  Australia

B India

(C)  South Africa
(D)  Sri Lanka

A leader must possess the following
except

|A] Missionary Zeal
{B)  Commitrment
{C) Persuasivensss

(2 Selfishness

Who was the first Athlete to ba
awarded Padmashree Award 7

1A
{B)

PT lUsha
Milkha Singh
(G G5 Randhawa

(0

V.5, Chauhan

184.

185,

1 86.

00 00 0 O

Who among the lollowing was the first
Indian Women Athiete 1o represent
India on the Olympics 7

(A} P.T. Usha

(B} Mary D'Souzs
(S} Shiny Wilson

(O} M.D. Valsama

Who among the follewing broke
5 workd records in one day in frack

and figld evenis 7

if)  Dan O'B8rain
%

(B} Jesse Owens

(S} Merlenae Oflee

(D) Carf Lews

To which village in Kerala dpes
F.T.Usha baelong 7

(a) Trivandmim
(B} Payyol

(T} Guntur

Moneot the above
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(C) 9=
(D) st

w49 3 wls an B o S
AT

(A e

(B) W

(C)  =far wiwm

(D} e

181,

182, el 3 e 7 1l de ey, five see
(&) T 3R

(Bl F5Em

(C) RegrEEEr

(D} =

183, Al TR ST TR A H

=

(A} Hidram
(Bl Trem
(C) SLUE.
(o fl.'FH.-'ﬂTRFF
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187. Who broke Milkha Singh's: 400m
Mationat Record 7

(A) Jyotirmoyee Sikdar
(8) Paramiit Singh

(L) Shakti Singh

(D} Gulab Chand

188. The Board of Controf for Cricket in
India was set up in the year
Ay 1936
(B) 1905
(Cy 1821
(D) 1928

189, In which counlry did the game of
basketball originate 7
(A} Russia
(Bl Japan
i) LISA
(D} Canada

190.  How much bBlood is pumped out by
the heart of an Athlete a1 the ime of
playing 7
(A} 22 ltres
B 194 litres

r-h

el 128 liras

0y 12.8 litres

181,

192,

193.

| O A 0

‘smashing’ In Volleyball |5 also

known as

{A} Lifting

(8) Spiking
{C) Servicing

(D) Blocking

What s the duration of a round in
Boxing 7
(A} 1 minute
(Bl  2minutes
%

{C) 3 mnutes

(D) 4 minutes

Decathlon consists of

(A) B track and 4 fisld events
(B} 4 frack and 6 field events
{C) 3irackand 7 fisld everits

(0 7 irack and 3 field everts
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187,

1BE.

189,

180.

Aa-
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(a) =i R

(B) fa e

(C) Wi e

(o) e =

WA o e S A9l
F=TA 547 |

(A
(B}
(G
(D)

1936 H
1805 7
1921 7
1528 4

STGehaa el el e A O WY 5T 7
(A} wE

{8) =mMH

(Gt

eI =

HETE 1 HEd R e, seE wen g
HIE TP AT &

22wl

194 #i2

15.6 #27

126

(A
(B)
(L]
{ O
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194, Thomas Cup' is associated with 168. How many chambers are there In

(&) Badminton {men)

human heart ?
|B] Badminton (women)

(CY Table Tennis (men) (A) Two
' le Tenni
(D) Table Tennis (women) @ Three
185, ‘Martina Hingis™ belongs 1o

(C) Four
{A) Canada
(B} USA (D) Five
(C) England

128, When did India win the Warld Cup
(D) Switzarland

e )
196. Mame the first indian {male) to swim Cricket |
across the Englsh Channal (A) 1983
(&) Thomas Cook
(B) 1875
(B) Khazan Singh
{C)  Minir San () Yevm
(B} None (D) 1981-92

197, \Whaamong the following was the first

. Baseball is the national game of
Indian to win the Wimbeldon and 20 ¥ g

French Open Junior Championships 7 (A Canada
(4] Bamesh Krshnan _

(B} France
(B} Ramanathan Krishnan
(T Wilay Amritraj | Gy USA
(0 Mahesh Bhupati ‘ ) England
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194, 9THE FY 358 Wiy 2
(A) eiie (ge)
(B) Heffz (wigen)
(C) Zee Ha ()
(D) e (fEe)

195, ‘witds e’ e dm E amEE B
(A) FET
(B) i
(C) e
(D) FEmwEE

198, e 99 87 S U0 E 9 9Ee
W ()
() =EEFE
(B) wEwE fe
(Cy faemas
(D) e =

197, e 8 rgersd 23 i e s
ST SlHETE e S R
(&) TETFEE
(B)  THATE
(&) & 9em
(D) i Al

188,

158.
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Ui-d g2 U fha-T slgam gl 8 7
(&) @

(B) HH

{C)] =W

(D) ==

g7 A o T = W 7
(A) 1983

(B) 1975

(C) 1879 v

(D) 1891-92

et T A1 o I e
(A) g

(B) ==

(C) sl

(0 Sl




prepp

Latest Sarkari jobs,
Govt Exam alerts,
Results and Vacancies

» Latest News and Notification

» Exam Paper Analysis

» Topic-wise weightage

» Previous Year Papers with Answer Key

» Preparation Strategy & Subject-wise Books

To know more Click Here

DEEEE CHmm



https://prepp.in/
https://www.facebook.com/prepp.in.exams/
https://www.instagram.com/prepp_in/
https://twitter.com/prepp_in
https://in.pinterest.com/prepp_in/
https://www.youtube.com/channel/UC5lbyL9e2Nxqev5_kWtZCwg
https://prepp.in/government-jobs-2021-news

